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Think Ahead

Introduction

This article has been written to complement Read the mind of an SBR marker - Part One
and to give further insight into how the marking team award marks in this exam.

This article has been based on extracts from student The questions will require judgement to be applied to
answers to questions 3 and 4 of the December 2018 exam complex reporting scenarios, with insight into numbers
and explains the thinking behind how the marks were and an appreciation of the perspective of stakeholders.
awarded. The examining team has explained that this The marked answers should help students and tutors
section of the SBR exam tests the specific skills and qualities  understand what is required to achieve a pass in

that accountants are required to have in the workplace. questions of this type.

To support your reading of this article, you should refer

| to the Strategic Business Reporting exam from the
What is required December 2018 session. Click the link here.
to achieve a pass.
I
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Question 3

Question 3 uses a very common style of requirement,
namely to “advise the directors” on the accounting
treatment of some specific transactions. You are asked

to refer to relevant standards, and parts of the question
also refer to the Conceptual Framework and its proposed
revision. The examining team has emphasised that the
Conceptual Framework is a core area of the syllabus, and
when this exam was sat, the revision of the Framework was
one of the current issues within the scope of the exam.

Required: Advise the directors of Fill on how the
above transactions should be dealt with in its financial
statements with reference to relevant IFRS Standards
and the Conceptual Framework and its proposed
revision where indicated.

(25 marks)

]

The Conceptual
Framework is a core
— area of the syllabus
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Observations on the requirements

The 25 marks were split between three separate issues:
Part (a) for 7 marks asked for advice on:

(i) whether the Conceptual Framework affects the
valuation of inventories;

(i) how to calculate the net realisable value of the coal
inventory, including the low quality coal

Part (b) for 8 marks asked for advice on:

how to treat the reconditioning costs and whether the
decline in the price of coal is an impairment indicator

Part (c) for 10 marks asked for advice on:

Whether the proposed revision to the Conceptual
Framework will affect the decision as to whether
Fill controls the mine, and

whether the acquisition of the interest would be
considered a business combination under
International Financial Reporting Standards.

In this style of requirement, marks are normally awarded
on the basis of one mark for each relevant and well
explained point, but as shown in the marking scheme, a
large proportion of the marks are allocated to application
to the scenario. Good answers to these requirements
would take a broad approach, always being aware that
more than one accounting standard may have relevance.
The ability to select relevant technical points is key, as

is the ability to link these to the facts in the scenario. As
you will see when you look at the marked answers in this
article, it is not possible to achieve a pass mark in these
questions by simply listing out all that you can remember
about a particular accounting standard.

]

A large proportion of the
marks are allocated to
— application to the scenario.
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Notes on candidate one’s answer to Q3

Follow this link to see candidate one’s answer to Q3

View it here

Note 1
Mark given for stating the basic rule that is relevant —
despite the incorrect number for the standard.

Note 2
No marks given for reproducing information from the
scenario with no value added.

Note 3

The mark has been given here for the attempt to use
some of the scenario information, ie the 20% reduction
to explain how the NRV would be calculated (although
other parts of the explanation are clearly incorrect).

Note 4
Mark given for application of the “obligation” principle
to the scenario.

Note 5
Mark for correct application of IAS 36 to the scenario.
Note no marks have been given for simply listing out all

of the impairment indicators mentioned in the standard.

Think Ahead

i

]

No marks have been given
for simply listing out all of

— the impairment indicators
mentioned in the standard.

Note 6

Mark given for explanation of the impairment review that
would follow the identification of an impairment indicator,
as applied to the mining equipment.

Note 7
Mark given for applying the definition of value in use to
the coal in the scenario.

Note 8
Mark given for partially correct analysis of current
relationship.

Note 9

Two marks given for the correct explanation that the 72%
ownership does not give control, and the conclusion that
this means that the transaction would not lead to the mine
being fully consolidated by Fill.

The mark for candidate one for Q3 is 9/25.

TOTAL:

9/25
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Notes on candidate two’s answer to Q3

Follow this link to see candidate two's answer to Q3

View it here

Note 1
1. Two marks awarded in part (a)(i) for

® The attempt to say something relevant about the
Conceptual Framework

® explaining that it is IAS 2 rather than the Conceptual
Framework that sets out the basic valuation rules
for inventories

Note 2

A further mark awarded for taking the definition of NRV
and clearly applying it to the coal in the scenario. This is a
good example of how to demonstrate application.

Note 3

No mark given here as this paragraph does not make a
point relevant to the accounting issue. It sounds more
like financial management advice. It is not clear whether
the answer is arguing that the NRV is the spot rate or the
future rate.

Note 4
This point is not relevant (and the unwinding of discount
on an asset would not be an expense).

Note 5

Two marks given in total for referring to a relevant
technical point about provisions and correctly applying it
to the scenario.

Note 6

Three marks given in total for referring to relevant
technical points from I1AS16 and correctly applying these
to the scenario.

Think Ahead

Note 7

Two marks given in total for referring to a relevant
technical point about impairment indicators and correctly
applying it to the scenario. No additional mark given in
final paragraph of answer to (b) as nothing of substance
has been added. “PAG" is a marking abbreviation which
means “point already given” (in relation to identifying a
potential impairment indicator).

Note 8
A mark has been allocated to this paragraph for its
explanation of control.

Note 9

A mark has been given for the attempt to address the
point in the scenario about the directors wishing advice
on whether the revised Conceptual Framework will affect
decisions around control.

Note 10

No mark awarded here as it is not relevant to talk about
50% as the control threshold in this scenario. The decision
about whether control exists is based on factors other than
the ownership percentage.

Note 11
A mark given for the correct conclusion re the 72%

threshold.

Note 12
A mark given for correctly identifying that the relationship
is joint control.

Note 13

No further marks awarded as the answer goes on to
describe full consolidation, which does not align with
“joint control”.

The mark for candidate two for Q3 is 14/25.

TOTAL:

14/25
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Question 4

This highlights how the examining team takes a holistic
view of business reporting, covering non-financial as well
as financial aspects. Another feature of the SBR exam is
that you will have to consider aspects of reports from the
perspective of stakeholders.

]

You will have to consider
aspects of reports from the
— perspective of stakeholders.

Observations on the requirements

Part (a)

This part focused on the Management Commentary,
identified in the syllabus as a current issue that is within
the scope of the exam. The importance of the Conceptual
Framework in the SBR exam is also underlined by the

fact that it appears again in this question, requiring a
discussion of the qualitative characteristics in the context
of the management commentary.

Required:

(i) Discuss briefly the arguments for and against
issuing the IFRS Practice Statement Management
Commentary as a non-binding framework or as an
IFRS Standard. (4 marks)

(i) Discuss how the qualitative characteristics of
understandability, relevance and comparability
should be applied to the preparation of the
management commentary. (5 marks)

Although this requirement is not based on a scenario,

it is not asking for a simple repetition of rote learned
knowledge. In the first part of the requirement, the

marks are awarded for “arguments for and against” the
statement being non-binding or a standard. The key to
gaining marks here is to take time to think of some pros
and cons, rather than to write out everything you may have
learned about the Management Commentary.

In the second part of this requirement the marking scheme
allocates three marks to a discussion of the characteristics,
but to gain the other two marks you had to apply these

to the Management Commentary.

Think Ahead

Part (b)

Required:

With reference to the above information, explain to
the investor, the nature of accounting for taxation
in financial statements.

Note: Your answer should explain the tax reconciliation,
discuss the implications of current and future tax rates,
and provide an explanation of accounting for deferred
taxation in accordance with relevant IFRS Standards.
(14 marks)

Professional marks will be awarded in question 4(b)
for clarity and quality of discussion. (2 marks)

This requirement asked you to explain accounting for
taxation to an investor. The scenario included the disclosure
note analysing the tax charge, as well as some additional
information. Two professional marks were available, as will
be the case in the section B question that deals with any
aspect of analysis and communication with stakeholders.

The marking scheme splits the 14 technical marks over the
various issues, weighted towards the aspects covered in
most detail in the scenario, so 5 marks for explaining the
deferred tax aspects, 4 marks for explaining the items in
the reconciliation, 3 marks for explaining the effect and
relevance of the various tax rates mentioned, and 2 marks
for explaining why taxable and accounting profits are
different. The most effective way to pass this requirement
would be to use the “clues” in the requirement and the
scenario and try to find one or two things to say about
each of these aspects, rather than spending too much
time on one single aspect.

In deciding whether to award the full two professional
marks, markers would consider whether the answer
showed consideration of the investor, and what would be
relevant to them, as well as the general clarity, logic and
professionalism of the answer.

]
Clarity, logic and
professionalism.

I
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Notes on candidate one’s answer to Q4

Follow this link to see candidate one’s answer to Q4

View it here

Note 1

Two marks given for these points that demonstrate some
application to the requirement, identifying problems with
the guidance being non-binding.

Note 2

A mark has been awarded for each of the points about
the qualitative characteristics, as each shows at least an
attempt to apply these to the Management Commentary.

Note 3
Shows some relevant understanding of how the group
tax charge is calculated.

Think Ahead

Note 4

Mark awarded although the link to the points in the
scenario about the company’s history of losses has not
been developed. More marks would have been available
for this so this is a missed opportunity.

Note 5

The final three marks are awarded for making correct
technical points that are relevant and make use of the
scenario.

Note 6

No professional marks were awarded. The answer lacks
clarity as a variety of technical points are made with little
logic to their order. Also, there is no attempt made to
address the investor perspective of the question.

The mark for candidate one for Q4 is 10/25.

TOTAL:

10/25
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Notes on candidate two's answer to Q4

Follow this link to see candidate two's answer to Q4

View it here

Note 1

The answer does partly address the requirement, linking
some basic knowledge to the requirement for “arguments
for and against”, so as the points have been applied in
this way, two marks are given.

Note 2

Credit has been given for all three points here, again due
to the fact that an attempt has been made to apply the
points to the Management Commentary.

Note 3
Two marks awarded here as points are being made that
are relevant to explaining the information to the investor.

Note 4
Mark given here as there is some application apparent in
reference to foreign subsidiaries.

Note 5

Two separate marks awarded to this paragraph as there
is an attempt to explain two separate entries in the
reconciliation.

Think Ahead

Note 6
No marks given for copying question information with no
further value added.

Note 7
Mark given for attempt to explain impact of changing tax
rates in future.

Note 8

Two marks given for some basic description of deferred
tax, but capped at two due to lack of application to
question. The “MAX" annotations show where this cap
has been applied. There is always a limit to the number of
marks that can be given for pure rote learned knowledge.

Note 9
Mark given for application of knowledge to scenario.

Note 10

One professional mark given as the answer shows some
clarity of argument and presentation, but would need to
demonstrate more consideration of the “stakeholder”
perspective to get the full two marks.

The mark for candidate two for Q4 is 15/25.

TOTAL:

15/25
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December 2018 exam marked answers

Question 3 - Candidate one

Q3 (a)(l)

The Conceptual Framework for financial accounting does not affect
the valuation of inventory

IAS1Z Inventory - inventory is valued at the lower of cost and net
realisable value

(a)()

30 November 20x6 - low carbon content - low quality

3 year forecast = price of coal to be 20% less than the current spot price
Calculate the net realisable value:

1. Cost of removing coal from mine

2. Multiply x 3 years to get forecast price

2. Apply 20% reduction in price

4. Once price for coal is generated, the price for
the lower carbon content coal can be generated.

Think Ahead

Marks
Notes
0
1 Note 1
0 Note 2
1 Note 3

TOTAL - Part (a):

2/7

Relevant notes
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Q3 (b)

Under [FRS, a liability exists where an obligation arises.

In Fill however, we can see that there is no legal obligation to
maintain the mining equipment and so the proposition by the directors
should be disregarded.

However, if these costs are material to Fill then it is possible to create
a provision. However without knowing the materiality of these costs it
cannot be advised

However, the essential maintenance costs may be, again on the materiality

IAS 36 Impairment of assets lists indications of assets, for example:
1. Decreases (n the asset’s market value
2. Adverse changes (n the technological, market or economic environment
3. Obsolescence or damage
4. Reduction in usage.

The decline (n the price of the coal is an impairment indicator,
because it indicates an adverse change in the market for the coal.

Fill should then perform an impairment review, to work out whether the
carrying value of the mining equipment (s more than its recoverable
amount. Recoverable amount is the higher of

- Fair value less costs to sell, and
- Value in use

Value in use (s the future cash flows from use of the asset
(estimated future sales of coal, discounted to present value)

Think Ahead

Marks
Notes
1 Note 4
0}
0
1 Note 5
1 Note 6
1 Note 7

TOTAL - Part (b):

4/8

Relevant notes
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Q3 (c)

Under IFRS 3 Business Combinations any acquisitions must be reported by
the Standards.

The current share hold of Fill of the coal mine, of 28% gives rise to an
influence. This arises where a shareholding is above 20%, but below 50%,
and so although there (s influence, there is no control.

However, the additional purchase of the 24% will give Fill a 52% ownership
which might indicate control in some situations, but there is an operating
agreement (n place which requires 72% ownership prior to the approval of
any major decisions.

As Fill does not have control of the mine, it would not need to produce
consolidated financial statements for itself and the coal mine.

Think Ahead

Marks
Notes
1 Note 8
1
Note 9
1

TOTAL - Part (c):

3/10

TOTAL
Q3:

9/25

Relevant notes
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Marks

Question 3 - Candidate two

Notes

Qz (a) () Couceplual Framework and valwation of inventories
The Cobu:&/aﬁm/{’ Framenwork hak a chapter on Measuwrement.

This olescribes varions measurement methods, including

hittoric coft, curvent coft and realicakle value.

The valuation of tventory i <ot out in IAY 2 Quvendvries, so the Note 1
Conwpﬁwv( Fromework Aoes no’fa/vy%. The boasic rule in IAY 2 ic that
Q*wazlvm? shovld be held atthe lower waﬂ*mw(mﬁrw/&fmé& value.

(a) (i)

Net realisatle value is The expectod sales value (MX‘AVM? coste+v <ell
oo MWWVQAWMMW we would need v know The
curvent spot rate and wse This +v value The cond lees angy costs neeoled
+ Wﬁw ww(rww%'fv <sell and+v oleliver ittv customers.

Fll wondel wanttv fix the NRV of the Lower guality coal now baced

on The S/M%Vu/ié and Tatee ou;[’aﬁ.fwe ﬁw&(’ﬁhc% ﬁvcﬂwawfcw(p/rm
of The conl protably at a SW Lower rate Than The curvent spot 0 Note 3
rate. Thic wouM\qWszce the NRV' of The conl in Three pears Time.

The time value ofmonu? shoulod be Mwwmfco(fw éq) wring & suditadle
Asscount rate +v WWW%MW Dfﬁwfufwe C/F and then at
each pear ww(ﬁ-r 2 years wawind The MGMW@VL&@ ﬁwmﬂ/h P/L
Finance Costs.

1 Note 2

0 Note 4

TOTAL - Part (a):

3/7

Relevant notes
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az (b))

A provision shovld be maole when it ix virtually cevtain that an
014#& ofaconomuc resource fram The Ml/'ﬁ/'éi?. will Tatee /oéace and it
can be Vf/éwuééq) measwred.

QI This scenario i wordd not be correct+s matke aww&fionfw The
reconditioning coft because there is no D#%ﬂﬁonﬂ% Ao The wovk.
1AL 76 (Proper'ﬁ? Plant anod —EWW States That where an asset
has a %%Wm‘wmp@m with o shovter life or where periodic

n and overhaud 15 1 ed, This component shovld be
mq}eo”ﬁw W 0
WWW&V%MM@%W overhaud.

So, instead of The whole cott of The mining ecquipment being
written off over The same usefud life, $2 million should be written
off over two years.

Then when The V%DVWWW work i« done, The coste q]&ﬁw
rcwm{mfwm@ should be oledited 4o The aoﬂ‘q;ﬂﬁw eqpipment
and writfen %ffwarﬂw p&rw%vlv The Mrmm(mfww

An WWMMWGW/‘DV " IDMM Wmlo(s%wfﬁw value
ofﬁw asset has oleclined. Exmy(as are:

- Decline in market value
- Obsolescence tg]ﬂ MWWW techunical adhvonces
mmmmwmqﬁwmldﬂo%ww%ﬁeanmr
q)ﬂmwmm
The asset should be tested if sn impairment indicator is present but
without knowing move kot the voiaﬁ&)ﬁ? vfoow{s sales prices it i
Wﬁ&%%ﬂvﬁ%«%@kandnﬁoﬁvrﬁmf

Marks

PAG

TOTAL - Part (b):

7/8

Think Ahead a

Notes

Note 5

Note 6

Note 7

Relevant notes
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Marks

Notes

Qz ()
Contirol ic Waﬂg} assumed 4o WM[QADMM has & SOZ
o more h,o{a{mg e an aw'ﬁ/‘ﬁt?

The WWWMMZ%W@MW WWM‘AW of voting
I"W within The entity wh/f}chﬁwngxr}ve&ﬁ],mmww Dfaﬁmwns
maole WWMMWWW/’Q which in furn gives them contiol 1 Note 8
over The refurns made 4o them by The parent entity i.e.control
of the board.

The reviced Conwpﬁwz[ Fromework wses a similar pl&fww‘ﬁwn %AGDWD{ 1
+o [FRS 70 co this will m’fcﬁmn?e whetther ov not control exiclz.

%Fﬂaaq,m}re an adoitional 243 Thic will tatee Their ﬁw’lolmg
above The SO Thwreshold +v» S2% which WWS%MM Ap
then hove contiol becanse Theq have s%mwﬁaﬂg} The largeet
Howewver it wordd nottake them over the 725 consensus needed ax
per The operating uﬂmemwfmgww The MW olecision making.
Mkaﬁdm)fwmﬁo’éraéaﬁonwﬂw%hoﬂﬁmgk&rr&(&mﬁw@ﬂ 1 Note 12
The a])em;ﬁ){/@ ofﬂrcemawf it amenoled.

The adoitional acquisition wordod be o(fwrr&ﬁeo(u & Step acquisition.

Whereby an entity acquire another in stages, perhaps+v reouce the
rick exposure o due o nsufficient funds at the time.

G ths scenario Fll will 4o from having an astociate fv subsidiary,
Aesociate would be one line in PEL (equity ﬁocbu/ﬂﬁt/lﬂ)dﬂm/ Fl 0 Note 13
share of Arcociats’s Profits and showing the value of The Luvestment
in The SOTP.

When SWILIL'W@. consolidation muet Take place. Thic means M(oéwg
all q]ﬁﬁw entities’ assetzc and éwvébfqu) %vg»e?"lwr on SOFP and
WO‘V‘/(LM@ ot The %ﬂvﬁwu@( and Non Cow’ﬁ”oﬂwg Gnteredd.

Note 9

0 Note 10

1 Note 11

TOTAL - Part (c):

4/10

TOTAL
Q3:

14/25

Relevant notes
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Question 4 - Candidate one

Q4 (a)(i)
With there not being a binding framework this may mean that different
companies may produce the commentaries differently which may mean it

may be difficult to compare.

Also the company may not produce the report the same year on year so
the comparison may be difficult. With the comparison being difficult this
may mean the user may not be able to understand

The management may only provide information which it considers
favourable

(a)(t)

The management commentary should be produced on the same basis every
year so comparabillity can be obtained when reviewing previous versions
and future versions.

The information should be relevant when the commentary is produced.
This means it will help the users to make informed decisions

The information in the commentary should be in a layout and language a normal
person can understand, not filled with large amounts of technical information

Think Ahead

Marks

Notes

1 Note 1

1 Note 2

TOTAL - Part (a):

5/9

Relevant notes
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Q4 (b)

Firstly the tax charge is not based on the group but on the accounts of
the individual companies. This is shown by the notional charge at local tax
rate but the second item, difference in overseas tax rate brings the
notional charge in line with the individual.

When tax is calculated it also gives rise to deferred tax. This can e(ther
be an asset or liability. The reason for this (s because the companies and
tax authorities use different rates.

When a company has a deferred tax asset these can only be applied if the
company s making a profit or going to make a profit in the future.

Also there will be an adjustment to the tax charge to take into account
any under or over-estimate (n the previous period

With the proposed change to the tax rate in future periods the tax
charges in future years financial statements will increase

The $95m shown as current tax paid in the statement of cash flows is not
equal to the tax charge for the year because payments are not made at
the same time as the amounts are charged. The amount paid in the year
will have included some of last year’s tax charge and not all of this year’s
charge will have been paid

Prof

Think Ahead

Marks
Notes
1 Note 3
0}
1 Note 4
1
1 Note 5
1
0 Note 6

TOTAL - Part (b):

5/16

TOTAL
Q4.

10/25

Relevant notes
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Question 4 - Candidate two

Q4 (a) (i)

%Maoﬁoe statement shovld be an [FRS becanse:

/Mam?mawf Commentary is an m//rmwf Fool v help Lwestors
oletermine The p@(fmrmanoe Dfa company and enhance Their
wm{amfmw{mg Dfﬁw fwmnom/( pe@ﬂwmmnae of & compant.
+However, the commentary can sometimes be biased and ¢ Lucomp (ete .

%MM‘L%’Z @ﬁwwawmw’ﬁ,on can be omitted and oue+v ﬁwre Feing
no real contirol vver The commentary, users con be micled .

(W) (i)
Mwmmwu'ﬁa/m) can be MW%M%WVS ngow(
Q/Mﬂb% The ttwee characteristics 4v ensure This are:

MWJ’MM&!}AM@ - W&S&mefm/mw’ﬁwn in o Lear and concice
manuer, uiing fcrmm{o% the end wser con wunolerstand.

Relevance — ouly tucluole mfmfmmon The wcer needs and nottoo
much mfwma/ﬁon

Comwwépéwfq) z?ww on pear The commentary needs #v Link and
<show a /Mfoﬂre/mm We ofpe@ﬂmrmance

Think Ahead a

Marks

Notes

1 Note 1

1 Note 2

TOTAL - Part (a):

5/9

Relevant notes
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Marks

Notes

a4 (&)
Taxation is calevdated anod Vmg/m}reo( n The ﬁnmwéa[ Statements 1

wting The accruals basic, and will incluole come estimates.

Holls Growp is subfectto Tax aundits which can changeThe Tax paid so
That ic one reason why The wafcmwf@ﬁmhgﬁ&ws showeo('l‘a;cmw(qﬁ
E2Sm and the Tax chm%fwﬂw year was $&7m.

1 Note 3

The Tax recouciliation ov‘ﬁtamlﬂ'sv‘v Wﬁw covpovation Tax
which s 22% Df/wofvfﬁ incluole all The other elements within the
ﬁnﬁ\ndwfﬁm‘uwwu’k WWTMA E.9 The aﬂ%f&rww L overseas 1 Note 4

Tax rafes o5 on&{) a/yrh}maé& Wb{/lﬂfmf‘ ) (*/)Cchan?fv conversion and
consolidation rﬁﬂ overseas SM;AIML%%

There are come W which are non —Taxakle and These have been
Wmfw Also an WWM&MZLM not recopuisedd bqi Tox awlhovities
arw(on%wki&Lnanw%’sbm.% e This 15 added back
as well.

The curventtax rate it 223 ax at November 20X7. There will be a
new Toax rate Q£Z§Z AMW& from JE&MM@} 20X8.

Holls hos failed > matee o disclosure informing investors of the
change inTax rates which will reoluce Holls Group’s profit after tax 1 Note 7
mott liteclsy.

Deferved taxation arises when There is o difference between The

Moowwﬁng Treatment lUAAVL Hem and it Tox Treatment in accovdance 1
with The relevant tax authority.

Qfﬁwre ®a mew between The WV‘M valuwe DfML asset and
its Tax base This creafes o Taxable fempovary difference snd wold be 1 Note 8
V@coé»nkw( on The statement %ﬁmno&wf,@rhﬁbn.

Qfﬁw carvying value is Wmnﬁwﬁ;c base it wordd be
Vawroleolmsolefwmo(ﬁuc ém}ép&/‘&?

Qfﬂw WVWWMwwwﬂmnmﬁxme [/ZLKAWVM MAX
Tax asset.

Note 5

0 Note 6

MAX

Relevant notes
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e |

The tax rate wsed for oeferved tax ic an estimate, based on rafes
m&?‘w{bq)ﬁlﬁk)wmof. So the rate Df%‘% should be used as the
%Lﬂion WL A/WWM( on 72 November 20X7.

The curventtax Wﬁb&‘ég} i The J’lm‘cmmf@ﬁfwmudwf//mr&ﬁon s
Wﬁv The ol%]l‘ei'lf'@o( Tox émaéufwfq)/ MSWLL‘L(@AU'V'@ reaching The
currenttax payakle in the statement of profit ov lors.

Prof
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Marks
Notes
1 Note 9
(0}
1 Note 10

TOTAL - Part (b):

10/16

TOTAL
Q4.

15/25

Relevant notes
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